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12JIE243 360,000 360,000 0
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OESsUEALASEEAE 8,000,000 8,000
< 4,000
s 4,000
402 RI2EXt20| ™ 4,000 4,000 0
= 2,000
= 2,000
02 2IZE 2 A EZ (01X THS) 4,000 4,000 0
OEZSSNSSAE(MAE)EX XA
4,000,000& = 10H 4 4,000
< 2,000
s 2,000
sEZE FHSLEXA 2,200 51,624 ANA49,424
= 1,250
= 285
s 665
201 Let24d] 1,000 1,000 0
= 500
= 150
[ia 350
03 A2 S HI 1,000 1,000 0
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2,446

04 JIZtN 22X S

H

A
s

—Jlzs 66,800 » 18 » 245&
f+=< 66,8008 » 1H * 66

—EX= 66,800 » 30

24,919
24,919
16,366
4,409
2,004

2,446

_8_




fAH: =gl
= 2
=

=
HE: sABMAYS
Sl SItEE ALY CERED
2 S 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
— 428 = 20,774,800& * 0.103 2,140
201 et 32,000 30,000 2,000
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Oget=&H| 30,000
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ozdg=¢ 2,000
~BESNAULT HFAo 2¥4+Y
100,000& » 5% =« 43| 2,000
202 o4dl 3,348 3,348 0
01 = LH o4 1l 3,348 3,348 0
OFAsHE, OtSHRI| 2FA
139,500& * 2% » 12& 3,348
301 LEtE A= 784,000 1,514,000 A 730,000
12 JIEBHE4 3 784,000 1,514,000 A730,000
Og=s8aa3 XN 5,000,000& * 709 350,000
O¥=3d &z 283 A&  1,000,0008 = 140 140,000
Og=XHyl K& 1,000,000& * 70 70,000
OAAZ A& 2F T2 22
500,000& = 30¥ * 23| 30,000
OZas & UEHH XA
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OBAZF dARX sZus L=
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307 21201 A 216,000 46,000 170,000
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01 A& Hl 15,000 0 15,000
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10,000
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03 I AHAAN2 22+ 35,078 28,714 6,364
OFs #AE g4d3de 24 35,078
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7,304
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2,391

HH A
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350

HH A
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]| 1,000 0 1,000
gdel dodx N 1,000, 000& 1,000
500
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350
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0]
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2

UL Y

307 glztol & 9,720 0 9,720
6,804

875
2,041

HH W

02 It HAMAEE 9,720 0 9,720
ozdEogel Sod= K& 9,720,000& 9,720
6,804

875
2,041

MW

QEAE XNE A 146,000 0 146,000
58,400
87,600
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402 RI2HX=01 M 146,000 0 146,000
58,400
87,600
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122,000
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HE: sABMAYS
Sl SItEE ALY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 4,000 0 4,000
Oogxz 4,000
—= 0 R2IMESIH &&X A& At
800,000& * 5CH 4,000
301 et a3z 2,150 0 2,150
09 &AL HIZB &S 1,500 0 1,500
O= 0lRelIA=ESsIH Q&K AS
20,000& = 159 « 53] 1,500
12JIEB243 650 0 650
O= 0IReIAESIH s TAME
130,000& =+ 53l 650
DSEN A EXRZ MATR 3,942,784 3,860,306 82,478
= 1,296,120
< 232,639
e 2,414,025
H S #2H K& 90,000 90,000 0
307 eI+l & 90,000 90,000 0
02 It A AMHEE 90,000 90,000 0
OH &EX #dl XA 10,000& * 9,000 90,000
NEE & YMAN-EX 552,990 473,360 79,630
< 120,897
s 432,093
201 Let2d] 12,240 12,960 AT20
< 3,672
s 8,568
01 At 2teltl 12,240 12,960 AT20
Ogt=&H| 12,240
— 2 HYs HRAUR PS2 A8
6,000& = 1702 =128 12,240
< 3,672
s 8,568
301 et d s 35,000 0 35,000
< 10,500
s 24,500
12JEEd= 35,000 0 35,000
OH gz Ss2MEl &
100,000& * 350ha 35,000
< 10,500
s 24,500
402 BI2FX=201 M 505,750 460,400 45,350
< 106,725
i 399,025
01 2IZEH 2 A B (KR ) 183,750 0 183,750
OZAss MUTK X4
750,000& = 50ha = 0.7 26,250




A sgI=HH
HE: sABMAYS
Cel: DEEM MM U LS MUXE (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Osgz Lost2eHi(eE2) A
52,500,000 =6 +0.5 157,500
02 CIZEXIE A EX (0| XM THL) 322,000 460,400 A 138,400
OH Yolls ss2H s&2g s A&
100,000 = 1,650ha 165,000
& 49,500
= 115,500
O THHHS X =4 K&
750,000 % 70ha * 0.8 42,000
& 15,750
= 26,250
OJdlsd® THHHE X =4 K&
750,000& * 90ha * 0.8 54,000
= 20,250
= 33,750
OH XZJ|IHEY S2X=4 K&
750,000 % 65ha = 0.8 39,000
& 14,625
= 24,375
OsAUMAIZEH XS 50,000 = 440MIE 22,000
o= 6,600
= 15,400
H 24 & I 1,614,900 1,729,300 A 114,400
206 M = dl 1,614,900 1,729,300 A 114,400
01 X2 bl 1,614,900 1,729,300 A 114,400
OH JIAHOIY MENE XA
153,000 = 5,600ha 856,800
Ol sS4 X Held X3
133,000 = 5,700ha 758,100
NEE AMAX XA 8,596 154,596 A 146,000
201 LBt Y| 1,900 1,900 0
01 AP 22| d| 1,900 1,900 0
ogstedy| 1,500
~DEINMNGE E22 HE
50,000& * 3F *10H & 1,500
OoYxtz 400
— ESN=2Y 2dx=2 400,000 * 13| 400
202 044 6,696 6,696 0
01 2L Y| 6,696 6,696 0
ODEZM MANHH =7
139,500 * 4% « 128 6,696
MM AR = AOAl AL 3,700 3,700 0
303 ZAZ2 3,700 3,700 0
01 ZAZ 3,700 3,700 0
O=sg=20F @I & Z&HAl & 3,700
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Cel: DEEM MM U LS MUXE (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— X2 700,000€ * 1JH A 700
- 500,0008 » 30 A 1,500
— &d 300,000 * 50 A 1,500
MNHHs SHAE 13,700 13,700 0
201 LBt | 1,600 1,600 0
01 AP 22| d| 1,600 1,600 0
OoYxz 1,600
— AN =S T SRS A HA XL
800,000 = 2CH 1,600
301 et A= 9,100 9,100 0
09 HAIAHI BEAZ 9,100 9,100 0
OXMAds = CHR| SHAIEA AHIEA
20,0008 * 140™H 2,800
ONXMA=s & IsH 224
20,0008 * 140™H 2,800
OMMA= SHOIS JIEUHSE AR &
14,0008 * 250H 3,500
307 QI2t0| ™ 3,000 3,000 0
02 Q2B MAIE E =X 3,000 3,000 0
OaMA= S 0IS JIIEUHS XNAS
3,000,000 = 13| 3,000
gxis =X A 14,498 5,550 8,948
& 6,058
= 8,440
402 SI2F 20| & 14,498 5,550 8,948
& 6,058
= 8,440
02 CIZEXIE AL E X (0| & THE) 14,498 5,550 8,948
Oy MA =X K&
360,0002 = 11ha = 0.8 3,168
= 1,188
= 1,980
OLNEZE E=x(R)sXM X 11,330,000& 11,330
== 4,870
= 6,460
= EI&Z2 MO X & 1,601,400 1,356,600 244,800
= 1,281,120
o 96,084
= 224,196
301 et A= 1,601,400 1,356,600 244,800
= 1,281,120
=} 96,084
= 224,196
12 JIEtE & =2 1,601,400 1,356,600 244,800
O= EM&2 Mol XI& 3,400,0008 = 471ha 1,601,400
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= 1,281,120
< 96,084
= 224,196
A MAXE JIBEA ALY 16,000 16,000 0
< 6,000
s 10,000
402 2I2H X201 M 16,000 16,000 0
< 6,000
s 10,000
02 QI E2AE EZ (OIS ) 16,000 16,000 0
Ok MAZXH JItES ALY
2,000,000& = 10ha = 0.8 16,000
S 6,000
s 10,000
sEZENs4d N 27,000 0 27,000
= 15,000
< 3,600
s 8,400
307 gl2tol & 27,000 0 27,000
= 15,000
< 3,600
s 8,400
02 IZtE M AHE L 27,000 0 27,000
OsgZgMdsd N&
30,000,000& = 10H4 = 0.9 27,000
= 15,000
S 3,600
i 8,400
sHge =XX# 510,045 510,697 A 652
= 21,000
< 58,036
s 431,009
sgeltdels K& 200,000 261,000 A 61,000
301 LAz 200,000 261,000 261,000
02 ¥st=stit= 200,000 261,000 A 61,000
OsHgelnwdMitHE RS XI&
800,000& = 2509H 200,000
ST HAE S H = K& 241,920 175,572 66,348
< 42,336
s 199,584
307 21201 A 241,920 175,572 66,348
< 42,336
[ia 199,584
06 2= 241,920 175,572 66,348
OsgelMaietdEsHE K&
96,000& = 6,300F * 0.4 241,920
= 42,336
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47,661
900,800
1,023,132

9,705,

345

218,824

H

,823,090
,823,090

6,800,

000

23,090

H

,823,090
,823,090

6,800,

000

23,090

DO OO O

,823,090

6,800,

000

23,090

_20_




AN sg€II=4dH
BH: sAMAYs
CHol: Sl ASOHE (S &2)
A - HE B (3A) - HRAY - B Ol &t o San HmEET
ONASEEH DNFXNES
1,016,248& * 6,714ha 6,823,090
= 6,823,090
HN=EZ HFZEH XA 47,661 44,984 2,677
J| 47,661
201 £B-2%H| 33,563 33,563 0
J| 33,563
01 At 22l 33,563 33,563 0
Oget==EH| 33,563
—ANHEAEs SEH 33,563,000 33,563
J| 33,563
202 04l 14,098 11,421 2,677
J| 14,098
01 =LHYI 14,098 11,421 2,677
O#XDNFXNES gRF2 14,098,000 14,098
J| 14,098
rH=eld=3 63,180 55,550 7,630
= 50,544
e 12,636
301 Lt A= 63,180 55,550 7,630
= 50,544
s 12,636
12 JIEBHE4 S 63,180 55,550 7,630
OxH=eld=3 601,714& = 105ha 63,180
= 50,544
s 12,636
H THEHsot IS SETS X 1,801,600 1,801,600 0
< 900,800
[ia 900,800
301 et a = 1,801,600 1,801,600 0
< 900,800
e 900,800
12 JIEtE 43 1,801,600 1,801,600 0
OH Miisot 2EetB = N&E
320,000& = 5,630ha 1,801,600
< 900,800
[ia 900,800
EEEsH 105,022 105,022 0
202 odl 5,022 5,022 0
01 = LH o4 1l 5,022 5,022 0
Osgasgexza 139,500& = 3H = 123 5,022
402 RI2HXt20l 100,000 100,000 0
01 212t 2 AL B (RERTH ) 100,000 100,000 0
OHEsItEEAY 20,000,000& * 5 AL 100,000
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AN sg€II=4dH
M NHFSAX
el HEF s A2 M CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 6,696 6,696 0
01 = LH 4 Hl 6,696 6,696 0
OFHSASAS MANHD =7
139,500& * 49 = 123 6,696
301 et d=s 3,500 3,500 0
09 EALAHIEA S 3,500 3,500 0
OFEERII=etzsl oA 24
14,0008 * 50 700
O edsg 8dus A 24
7,000& = 2009H 1,400
OFSAEY QLT A&t
14,0003 = 50H =« 23| 1,400
307 21201 A 8,000 8,000 0
02 It M AHE L 8,000 8,000 0
ORJIs=gs &3
500,000& = 100H L X = 13 5,000
OBERaSASANES 2
3,000,000& » 1+ 3,000
402 RI2HXt20l 50,000 50,000 0
01 212t 2 A E = (RERTH ) 50,000 50,000 0
OHLZ HESZEI XNAAY
1,000,000& * 50CH 50,000
MEeBd=HFAN RS 1,117,000 1,107,000 10,000
301 et a3z 120,000 120,000 0
12 JIEtE 43 120,000 120,000 0
OHSAXPAESH ASSH AHES N
120,000, 000& 120,000
307 21201 A 72,000 62,000 10,000
02 QIAHFAAFEX 72,000 62,000 10,000
Oz gdsitEs S22UE ==& 65,000,000& 65,000
O=Hl&E I3 XJAY 7,000,000& 7,000
402 BIZEXHE0| A 925,000 925,000 0
01 U2 EALE X (KA R) 925,000 925,000 0
O sd=sgdHXNTH A (650ha)
725,000,000& 725,000
OZEI3AH 5 ZZM XNFAAZ
1,000& = 20,0000H 20,000
OXEY AUZE XBAL
4,000,000 * 90ha * 0.5 180,000
=g A= 42,000 42,000 0
= 42,000
301 et d = 42,000 42,000 0
= 42,000
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AN sg€II=4dH
Y HBRSYN
el HEF s A2 M CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
12JEEd= 42,000 42,000 0
O eEZ=d B XNEM A (80ha)
42,000,000& 42,000
= 42,000
MEsHHX =4 67,300 130,300 A 63,000
< 28,600
s 38,700
201 £B-2dH| 9,000 9,000 0
< 3,600
[ia 5,400
01 At 22l 9,000 9,000 0
Oget=gHl 9,000
—ABASAHT ALY NBAY
6,000,000& 6,000
< 3,000
[ia 3,000
—dEF=AZEXN ES 10,0008 * 3002 3,000
< 600
s 2,400
402 2I2H X201 M 58,300 121,300 A 63,000
< 25,000
s 33,300
02 QI 2 A EZ (OIS ) 58,300 121,300 A 63,000
OMEHsHSX =LA 60,000,000& * 0.7 42,000
< 18,000
[ia 24,000
OXstd=s sS84s X3 AS(23,300,000
2+0.7) 16,300,000 16,300
< 7,000
[ia 9,300
2g 2948 A= 162,000 0 162,000
< 48,000
i 114,000
301 et A= 72,000 0 72,000
< 21,000
e 51,000
12 JIE2 43 72,000 0 72,000
OFlatd s&tE daXE AE 72,000,000 72,000
< 21,000
s 51,000
307 21201 A 90,000 0 90,000
< 27,000
[ia 63,000
02 It S AIHE L 90,000 0 90,000
Ozl&d 0t ZdAY 90,000, 000& 90,000
< 27,000
i 63,000
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

XEHA=A JBtX M 3,813,217 3,639,217 174,000
= 1,921,422
& 171,550
= 1,720,245

SIN=sS XM X 20,043 20,043 0
= 8,000
= 3,600
= 8,443

307 2I2t0| & 20,043 20,043 0
= 8,000
= 3,600
= 8,443

02 QI AAIE E X 20,043 20,043 0
ORIN=sAIHM XA (72ha) 20,043,000 20,043
= 8,000
& 3,600
= 8,443

SIJ&8dlg XN& 3,400,000 3,400,000 0
= 1,700,000
= 122,950
= 1,577,050

307 gizto| A 3,400,000 3,400,000 0
= 1,700,000
= 122,950
= 1,577,050

02 QI2tAAMAIE E =X 3,400,000 3,400,000 0

OKJIZEH 2 XA (42,5008 )

3,400,000,000& 3,400,000
= 1,700,000
& 122,950
o 1,577,050

EXFMEH XS 219,174 219,174 0
= 153,422
= 65,752

307 2iz2to| A 219,174 219,174 0
= 153,422
= 65,752

02 QIZ2IA AAIE E X 219,174 219,174 0

OELMH XA (1,637E)

219,174,000 219,174
= 153,422
= 65,752

RESAEH MAAAYE S AFY 120,000 0 120,000
= 60,000
& 18,000
= 42,000

402 SI2FXHE20| & 120,000 0 120,000
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Y HBRSYN
Sl HEAsY JlBEy CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 60,000
< 18,000
= 42,000
02 U EALEZ(0IETHR) 120,000 0 120,000
OZXESABEH MAALE SU3 AL
120,000, 000& 120,000
= 60,000
< 18,000
[ 42,000
ZHOIEIHIE AX X3 A 54,000 0 54,000
= 27,000
s 27,000
402 RI2EXH=20l A 54,000 0 54,000
< 27,000
fia 27,000
02 LA TEALEZ(0IETHR) 54,000 0 54,000
O20IEHIE &X XA
30,000,000& * 3004 = 0.6 54,000
< 27,000
e 27,000
=4 ZHE 25t 8,163,512 7,734,129 429,383
= 1,063,980
s 500,000
J| 479,968
= 759,690
i 5,359,874
S| eteE 181,615 254,041 AT2,426
= 40,000
s 141,615
S¢EM 29 N3 42,100 13,100 29,000
201 €24l 13,100 13,100 0
01 At 22l 13,100 13,100 0
Oger==EH| 13,100
—J=sge Yzte JE 100,000& * 20K 2,000
—JIEYS EE20E QIMHE
500& = 3,00001 » 23 3,000
—JtEYY #a S ME
50,000& = 1601 = 23l 1,600
—AFSUNS L SMUSSE SIS M WA
200& = 2,0000H 400
—SMMY BEE M= HE S
1,000,000& = 1 1,000
—~SNUSEZ AHEXN B L EU 7Y
100,000& * 10A 1,000
—ZNEB AR 98 L 4224 S 248
21,000& = 104 = 103l 2,100
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Sl EMD|UEE CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
— 28 2+2(28.50] 5)
200,000& = 10A 2,000
401 Al& Bl 28I 27,000 0 27,000
01 A& HI 27,000 0 27,000
O FHihal2t E=Z At 27,000
— ST EAM 12,000,000& * 14 12,000
— U2 EF3A 15,000,000& * 14! 15,000
405 RHoHE S HI 2,000 0 2,000
01 AL EFSFHSHI 2,000 0 2,000
O 2433 YwE2HE 2
2,000,000& = 1CH 2,000
FMEAD s &S 7,600 7,600 0
203 PR =&l 2,000 2,000 0
03 Al =X A2 =& 2,000 2,000 0
OF4Zdd¥eE M YRXE 200,000 = 103 2,000
301 L2 A F 5,600 5,600 0
09 HALAHIEA S 5,600 5,600 0
OJE=dEY NOU £ s EN84
50,0002 = 209H 1,000
Osdz2d NDIL & s FA84
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201 LBt Y| 46,500 46,500 0
03 A2 | 46,500 46,500 0
OBecte dY Sa2 getg &t 46,500
—HA(EEZ)BA ARt
1,500,000 * 158 A 22,500
— A& &H|, 28 29Xt
300,000& * 10JH & Al 3,000
— XA &2 & AX
15,000,000 = 1A 15,000
—EBS(#X S) MZE 3,000,000& = 1A 3,000
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A sgI=HH
HY: SEM2RE
e sgOAHE (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
—E8, ANIAHE 7€ 3,000,000& = 13| 3,000
301 et A= 3,000 3,000 0
09 HAIAHI BEAZ 3,000 3,000 0
OBete2add Esreres] I AH B4
= 50,000 * 4L = 150 Al 3,000
307 gizto| A 3,000 3,000 0
02 Q2B AMAIE E =X 3,000 3,000 0
OBctE B SASEE3 AF =20
50,000 = 4L x 1500 Al 3,000
SEEANS OHAE A 70,500 70,500 0
201 LBt Y| 65,000 65,000 0
01 AP 22| d| 65,000 65,000 0
Ogbt4=24| 65,000
—SENMS WA E2S(MI S)HE
2,500,000 = 23| 5,000
— SASTH AMOIHS(2E, X013 29 ¢
=y 2,500,000& * 204 + 12€ 60,000
206 M = dl 2,000 2,000 0
01 X2 8| 2,000 2,000 0
OOHAHE &SsSHS 100,000& * 10 = 23| 2,000
301 LBt A= 3,500 3,500 0
09 HAIAHI EAZ 3,200 3,200 0
OGZAHAENAHE G HAEEB A
300,000& * 43| 1,200
ORGRXIAE SHE g A4
200,000& * 103 2,000
12 JIEtE A2 300 300 0
OO0 g2ttt s SIofEAZ2 300,000 « 13| 300
SEoA & MTA 29 39,280 39,750 AN470
201 LBt Y| 8,000 8,000 0
01 AP 22| d| 8,000 8,000 0
Ogbt4=24| 4,000
—=E2= Mz 100,000& * 10 * 43| 4,000
Oexs 4,000
—S NBYA 2E4E Y2
1,000,000 = 43| 4,000
202 044 1,780 2,250 N470
01 2L Y| 1,780 2,250 N470
OsS&E IHEESsS =X 1,780,000 1,780
203 R F & 2,500 2,500 0
03 AIZH =X 25 X H| 2,500 2,500 0

_55_




fAM: sgIlsdH
HY: SEM2RE
& sH0HE (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OOtAHE 2H g2=2 250,000& * 103l 2,500
206 M= Hl 8,000 8,000 0
01 MHZ 8l 8,000 8,000 0
OS(H)E HAZEE AMAMS
1,000,000& * 43| 4,000
OFERZANE EEANAMS
1,000,000 * 43| 4,000
301 L2 LS 6,000 6,000 0
09 HALAHIEA S 6,000 6,000 0
OS(&)E AN ZHOtAM AUl24
50,0003 * 15IHL A = 83l 6,000
307 glz2tol & 13,000 13,000 0
02 RIZFE MM E X 13,000 13,000 0
OS(Z)® - HHHHA T20)
0,000& * 200HS Ml » 5H * 23] 10,000
OFERSZAZHA It H XA
100,000& » 10H L Xl = 33 3,000
SFEMAR AL (2D}) 568,000 321,000 247,000
s 400,000
< 48,000
s 120,000
207 A RO H| 100,000 0 100,000
01 A EAHI 100,000 0 100,000
O=sg=gX32sAg 2 28 100,000,000 100,000
307 21201 A 468,000 321,000 147,000
ras 400,000
< 48,000
[ia 20,000
02 ItFAAHEEX 468,000 321,000 147,000
O&E 26Xt A SHAHS 468,000,000 468,000
s 400,000
< 48,000
fia 20,000
SEFC sSE=E E3sAY 2,100,535 1,953,133 147,402
= 7,500
< 9,890
s 2,083,145
SEFE BE 1,267,198 1,317,198 A 50,000
201 £B-2%H| 683,048 693,048 210,000
01 At 22l 683,048 693,048 210,000
Oger==EH| 683,048
— RIS ATE 2Y 500,000& = 12& 6,000
—eELe ALS NHSNES
25,000,000& * 8.8% 2,200
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A sgI=HH
Hu: SSM2RE
S PELR SSAE YBIAY EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
—Snte AUE MO %8 e & 9
Ol &4 6,000,000& = 1A 6,000
—ZFZHEgZ208# AHSX 24|
21,000,000 * 8.8% 1,848
—UHEA REFL 2sEHUHE 2D (HAS, 8
&) 250,000,000& 250,000
— AXX [OI3E gL 300,000,000& 300,000
—RTLY TESEUCS TV Y MR BD
100,000,000 100,000
—E2=2 M& 2,500,000& 2,500
~SELe 228 ALY S M
500& * 20,0000H 10,000
~ 232 Y S5 S= MXE S
300,000& = 15AH 4,500
202 044l 5,400 5,400 0
01 2Ll 5,400 5,400 0
OssEMYEE g2 =&
150,000& * 39 = 128 5,400
203 ¥ 2 =&XH| 2,000 2,000 0]
03 Al 2 =& 2 = X H| 2,000 2,000 0
OAMEZsets &) S Y2
400,000& = 53] 2,000
206 M = dl 20,000 10,000 10,000
01 =4l 20,000 10,000 10,000
O&FAHANEH 222 22 22|
10,000,000 = 23| 20,000
301 et A= 4,000 4,000 0
09 #HAIAHI BEAZ 4,000 4,000 0]
O=ZHNASeets &AEA
50,000 = 20¥ = 23| 2,000
OAAE AN SIS A2 4
50,000 * 200HLE Ml = 23] 2,000
306 =2 450,000 500,000 A 50,000
o1 s 3 450,000 500,000 A 50,000
OSMERARA 89 450,000,000& = 14! 450,000
402 BI2H X 20| M 102,750 102,750 0
01 It EANSE X (MMM A) 102,750 102,750 0
OFE2AMESIIEEE s LA
1,400& = 60,0000 = 0.5 42,000
ORGZAIMSIEBE2AS ZTHIA X
2,500,000& = 1504 *~ 0.5 18,750
ORLSe 82 THYA XS
1,400& = 60,0000 = 0.5 42,000
AN 29 118,237 65,639 52,598
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A sgI=HH
HY: SEM2RE
S RELR SSAS YEIAY (B9 ®R)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
101 @124 H] 24,389 21,791 2,598
04 JI2ZtHIZ2 2 NEE S 24,389 21,791 2,598
O as2 2tel 24,389
—Je22 66,800 * 1H =x 245 16,366
-85 224 66,800 * 1¥H » 86 5,745
— 42 =2 22,110,800& * 0.103 2,278
201 et 9| 23,848 23,848 0
01 AFR 2t 2| bl 14,500 14,500 0
Ogbtx=2d| 7,500
— 201 AGIAAY 2A 125,000 = 12& 1,500
~HEYNEE HEZRIANY L 29
5,000,000& 5,000
— QS A0 HAEBSH = 1,000, 0008 1,000
Oo249sd 7,000
—MET 2O 2AAIE 350,000& = 203 7,000
02 2224 H| 9,348 9,348 0
OZ2Z222 ¥ HMA 9,348
— &I Rea 659,0008 ~ 12& 7,908
= = 50,0008 * 12& 600
— SN2 70,0008 = 12&€ 840
206 M = Hl 20,000 20,000 0
01 =4l 20,000 20,000 0
OFGAINIEE HEZ2)H A
20,000,000 20,000
401 A& HI L 2 0HHI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
ootz AT WHEA(3MA) 50,000,000 50,000
HEQULQOISXER B AY =4 433,000 353,000 80,000
201 £Bt24 | 3,000 3,000 0
03 SHAI2 G H| 3,000 3,000 0
OHLELRLQOSXTR BHE SHEHA
1,500,000& * 23| 3,000
402 BI2H X 20| M 430,000 350,000 80,000
01 SIZEXIEANSEXR (ML) 430,000 350,000 80,000
OBYSTASEEHS SUC A K&
400,000,000& 400,000
OHLERLQSXTR KSE4HS A&
30,000,000 30,000
AlAME PSS 15,000 2,896 12,104
= 7,500
o= 2,250
= 5,250
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fAM: sgIlsdH
Hu: SSM2RE
&€ RESFe SN2 BSSMY (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 glz2tol & 15,000 2,896 12,104
= 7,500
< 2,250
s 5,250
02 P HAMHEE 15,000 2,896 12,104
OalMe XNEWs AN 15,000, 000 15,000
= 7,500
= 2,250
s 5,250
SIS sEUE B0LE =M 120,000 120,000 0
307 glz2+ol & 120,000 120,000 0
02 HAFHAANEEE 120,000 120,000 0
OFEEFc=H X 120,000, 000& 120,000
=M ASEE S 50,000 30,000 20,000
201 Let24d] 50,000 30,000 20,000
03 &AL Z I 50,000 30,000 20,000
O=HASZ=Zs 24 & SIS
25,000,000& * 23] 50,000
U ASE 3 50,000 30,000 20,000
201 Let2d] 50,000 30,000 20,000
03 A2 Z Hl 50,000 30,000 20,000
OZWASE 22 o SEAR
10,000,000& * 53| 50,000
e s4aE 2@es #xord 28,000 28,000 0
202 o4dl 28,000 28,000 0
03 22A L0l 28,000 28,000 0
OdflsASHes #I0tZ S0
2,000,000& = 7H « 23| 28,000
2o B3sEHE 4 19,100 6,400 12,700
< 7,640
s 11,460
307 glz2tol & 19,100 6,400 12,700
< 7,640
s 11,460
02 It M AHE X 19,100 6,400 12,700
Ogt=XH 1==s) sot&¥a=2 N
19,100, 000& 19,100
= 7,640
e 11,460
sEXNEANY 13,918,431 11,322,383 2,596,048
= 741,865
s 143,000
| 124,907
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2N

SIS dH

HHM: sE=EXNTAY
H: sglI=XE (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 2,333,674
= 10,574,985
sHII=X& 271,962 97,281 174,681
= 11,825
< 7,800
= 252,337
sells - 88 EE 28,040 33,040 A5,000
= 1,800
= 26,240
201 Bt 21,140 21,140 0
= 1,800
= 19,340
01 AP 22| H| 18,700 18,700 0]
Ogst=2H| 18,700
—FASABEX M
1,000& * 8008 = 128 9,600
—sSsEXNEAMY HE L 20N HEH
5,000& * 1008 * 5= 2,500
—MII=E2 UM M 500,000& = 5= 2,500
—sgllzs 82T A 7Y 100,000 = 5= 500
—sYII=sdE M2 AN A 3,600,000 3,600
= 1,800
= 1,800
02 2% H| 2,440 2,440 0
OZ2222 ¥ HMA 1,440
—sgll=s=A &2 600& * 200¥ * 128 1,440
OAAEZH KXY 1,000
—J=282&48X 250,000 * 43| 1,000
202 044l 5,400 5,400 0
01 2L I 5,400 5,400 0
Osg%lls 838 88 424 5,400,000& 5,400
203 SR F & 1,500 1,500 0
03 AIZH =X 2= X H| 1,500 1,500 0
OsgllsEgd g8 150,000 = 103l 1,500
NEZBL2H MEsE SN 17,650 16,100 1,550
= 8,825
= 8,825
202 044 17,650 16,100 1,550
= 8,825
= 8,825
01 2L Hl 10,300 14,100 A 3,800
OXNEZ2R MEsgiigess I3
10,300,000 10,300
= 5,150
o 5,150
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2N sl E M
HHM: sE=EXNTAY
H: sglI=XE Cf
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
04 =M st dl 7,350 2,000 5,350
OEMEHA(IY) 3,600,000 3,600
= 1,800
= 1,800
O=22JI=sXNE=(1Y) 3,750,000& 3,750
= 1,875
= 1,875
S&)|z=g2sKd 22,695 20,665 2,030
101 Q121 H| 22,695 20,665 2,030
04 JI2ZtHIZ22NEES 22,695 20,665 2,030
O8HI=NE 8sXE 22,695
—J22 66,800 * 1H x 245 16,366
—S2S5222x4 66,800 x 1 » 63L 4,209
—4Eg = 20,574,400 * 0.103 2,120
SEMNEZ2RE =25 & 20,000 6,000 14,000
= 6,000
= 14,000
201 et 9| 5,000 0 5,000
= 1,500
= 3,500
01 AP 2t 2] H| 5,000 0 5,000
Ogtt4f=2y| 4,000
—sgIIsdE2EC NN 200,000& » 209 4,000
=} 1,200
= 2,800
OS g 22l 1,000, 0008 1,000
& 300
= 700
202 o4 Hl 15,000 6,000 9,000
= 4,500
= 10,500
01 2L I 15,000 6,000 9,000
OSEHEZ2 A2Ys RSS2
5,000,000& 5,000
& 1,500
= 3,500
ONSHAEEHE IR 500,000& = 10¥ = 23| 10,000
=} 3,000
= 7,000
SEXNEANYE &5 I 23,577 21,476 2,101
= 3,000
= 20,577
101 2121 H] 23,577 21,476 2,101
= 3,000
= 20,577
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AN seIIsHE

g sEXNTAEY

Chelr sZJIsXR (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
04 JIZHHZ2XREES 23,577 21,476 2,101
O=sZEZEANY 25t 23,577
—Jl&s 66,8003 * 18 » 247 16,500
2 3,000
s 13,500
—S=5222=Y 66,800& * 1¥ » 63 4,209
— WS 2tAH| 3,000 * 18 » 245¢ 735
—4EE = 20,708,000& * 0.103 2,133
S B SAY 160,000 0 160,000
401 Al B2 28I 160,000 0 160,000
01 A&l 160,000 0 160,000
Osxe dais ZdME S==AE X
160,000, 000& 160,000
d2sgo 84 626,966 510,755 116,211
= 86,210
< 84,635
s 456,121
sENCN 54 133,230 111,450 21,780
< 13,332
s 119,898
201 LB-2dH| 40,480 30,800 9,680
< 5,832
s 34,648
01 At 22l 40,480 30,800 9,680
O e8| 38,880
—sSENZA =s2E2X A& 38,880,000 38,880
< 5,832
s 33,048
Oogxz 1,600
—-sEXNEXN 5L 508 &S =3
Xt 800,000& * 2 1,600
203 R =&Yl 1,500 1,500 0
03 A F=XH S =AY 1,500 1,500 0
Osgdsstd 248 100,000& * 152/ 1,500
301 et A2 19,200 19,200 0
< 1,200
s 18,000
09 &ALAHIB &S 19,200 19,200 0
OsZX&Xl 528 s4X& 4,000,000& 4,000
< 1,200
e 2,800
OsZXNE X3 HHus &M84A
1,000,000& * 10943l 10,000
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AN seIIsHE

g sEXNTAEY

ol Meseol g4 (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OsEXNEXN 2 . 5Hus FA24
40,0002 * 30% 1,200
OS2 S29 520 BA oY
0,000& = 1009 4,000
307 gl2tol & 72,050 59,950 12,100
= 6,300
s 65,750
02 It M AHE X 42,050 31,950 10,100
OsEXNEX geslsd K&
2,000,000& * 1JH3l 2,000
Os&EXNE s 8K
1,270,000& * 15743l 19,050
Osol sty 8252 X
11,000, 000& 11,000
< 3,300
s 7,700
Osg HASH 22 ZSssIT 29 XY
10,000, 000& 10,000
< 3,000
s 7,000
04 DI2HHALALSE E X 30,000 28,000 2,000
O=gel st 802 sl 30,000,000 30,000
dEsge s4X& 213,020 141,400 71,620
< 56,303
i 156,717
201 et 27,220 24,000 3,220
< 4,283
i 22,937
01 At 221l 27,220 24,000 3,220
Oget=&H| 27,220
—MolsgeladEuns WA
10,000& * 2,000% 20,000
< 3,500
s 16,500
—MilsgeladEsus =9 M
50,0003 = 200H 1,000
—MolsZaE8Ws 3y M
50,000& * 208 1,000
—4-H sEEEXN X 5,220,000& 5,220
< 783
[ 4,437
301 et a = 17,800 7,800 10,000
< 2,700
e 15,100
06 212tol= 2l 04l 9,000 0 9,000
O4-Hel 22 UERZ 25 NE
9,000,000& 9,000
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AN seIIsHE

HE: SEXTAY

ol MEsol S4 (S5 &)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
== 2,700
s 6,300
09 HALAHIE& S 2,800 2,800 0
O25E sgod22 NsaEsd 24
8,000& » 2009 1,600
O4HBISH =, To9 D] HAL
40,0003 = 30¢¥ 1,200
12 JIEBHE4 3 6,000 5,000 1,000
OMolsgel dgns 2A+E
350,000& =« 103l 3,500
OZFEst=sg 2483XKA ZA=+=E
2,500,000& 2,500
307 glz2tol & 79,000 109,600 A 30,600
< 13,320
s 65,680
02 It MAMHEE 79,000 109,600 A 30,600
OXNgGEEHsdeHiss KA
10,000,000& * 34 * 0.8 24,000
< 9,000
s 15,000
OstW4-Hsl NS X3 4,000,000& 4,000
= 1,200
s 2,800
O&FE4-H A ws XA 5,400,000 5,400
= 1,620
fia 3,780
O4-HERAS LN 1,100,000 * 1J43l 1,100
O&E4-H HH&=s NA  20,000,0008 = 2H 40,000
OZEst=sdeds N (ads 25)
1,500,000& * 3JH £ 4,500
< 1,500
= 3,000
402 RI2HX=01 M 89,000 0 89,000
< 36,000
s 53,000
02 QI EAILSEZ (01X THS) 89,000 0 89,000
OZ=e88 2=1UH dEHE AY
70,000,000& = 0.7 49,000
< 21,000
= 28,000
O=EEs0 HUF X &
50,000,000& = 0.8 40,000
< 15,000
= 25,000
SMHELETAEZA 32,775 26,025 6,750
= 9,360
= 23,415
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2N
X ZH -
L= B

el

SIS dH

SEXNZ ALY

SA - BB B () - MM - BES Ol &t o San HmEET
101 14 Hl 22,695 20,665 2,030
= 4,320
s 18,375
04 JIZHHZ22XREES 22,695 20,665 2,030
OstELSEXZA & JISHERA 22,695
—Jl=s 66,8003 * 18 = 245¢ 16,366
= 4,320
s 12,046
=A== E =y 66,800& * 1% = 63 4,209
—4HE2E= 20,574,000& * 0.103 2,120
202 04l 3,360 2,000 1,360
= 1,680
[ia 1,680
01 = LHA YI 3,360 2,000 1,360
OsdMEBASEXT AL 24 20,0008 » 43| » 42H 3,360
= 1,680
e 1,680
301 L2 LS 6,720 3,360 3,360
= 3,360
e 3,360
12 JIEtE4 S 6,720 3,360 3,360
OSMSASEA J=ZR J=24
160,000& *» 42= Dt 6,720
= 3,360
e 3,360
NEEs sII=d32s XA 22,842 20,665 2,177
= 4,000
e 18,842
101 @124 dl 22,842 20,665 2,177
= 4,000
s 18,842
04 12t Z2XREES 22,842 20,665 2,177
OXZEEs =)= 23 AdEXNH 22,842
—Jl=s 66,8003 * 18 = 247 16,500
= 4,000
i 12,500
— |5 66,800& * 1% = 63 4,209
— 42 = 20,708,000& * 0.103 2,133
sZolHs 29 A& 29,700 18,000 11,700
= 8,000
[ia 21,700
201 £B-2dH| 6,600 6,100 500
= 3,300
s 3,300
01 At 22/l 6,600 6,100 500
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AN seIIsHE

g sEXNTAEY

ol MEsol S4 (S5 &)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O e8| 5,000
—sSHHE Wi ME 4,000,000& 4,000
= 2,000
= 2,000
—=sgoiis =28 L AA 1,000, 000& 1,000
= 500
[ia 500
Oogxz 1,600
—sololtis HAAS A%t
800,000& = 2CH 1,600
= 800
s 800
206 M= dl 1,500 2,300 A 800
2 750
s 750
01 =8l 1,500 2,300 A 800
Osgeoltis 29 AsM= 1,500, 000& 1,500
= 750
[ 750
301 L2 A Z 21,600 9,600 12,000
= 3,950
i 17,650
09 HALAHIEA S 1,600 1,600 0
OsoItie #FAst BHT B4
20,000& = 80 =« 13l 1,600
= 800
[ia 800
12 JIEtE4 3 20,000 8,000 12,000
Osgelthst ZA=& 500,000& = 403l 20,000
= 3,150
s 16,850
das 24 NE 38,000 47,415 A9,415
= 19,000
s 19,000
201 L2 | 3,400 3,250 150
= 1,700
[ia 1,700
01 At 22/l 3,400 3,250 150
Oget==EH| 2,600
— WS WM 2,600,000& 2,600
= 1,300
s 1,300
Ogxtz 800
—LASSANE AY AR
800,000& = 1CH 800
- 400
e 400
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AN seIIsHE
g sEXNTAEY

0ol M=ol

= - - SHE]|
SN FHE - B(BA) - MRAY - BHES e Hl B E2
206 M=l 1,000 2,000 21,000
= 500
s 500
01 M= 1,000 2,000 A 1,000
OFAEN o & 1,000, 000& 1,000
= 500
s 500
301 LBt 21,600 9,500 12,100
= 10,800
e 10,800
09 & At 1,600 1,500 100
o
) 800
= 400
s 400
o
13 800
= 400
s 400
12 J|Et 20,000 8,000 12,000
o
20,000,000& 20,000
= 10,000
[ia 10,000
307 22t 12,000 12,000 0
= 6,000
[ia 6,000
05 212t 12,000 12,000 0
o
,000& * 6=t 12,000
= 6,000
[ia 6,000
A= Al SuEot XA 10,000 9,000 1,000
= 5,000
[ia 5,000
201 ot 4,000 4,000 0
= 2,000
= 2,000
03 & Al 4,000 4,000 0
o 4,000,0002 4,000
= 2,000
= 2,000
202 Odl 2,800 3,000 A 200
= 1,400
= 1,400
01 SLHAYI 2,800 3,000 A 200
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AN seIIsHE

g sEXNTAEY

ol Meseol g4 (SHol: @)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZ2s Ndaiel & S0E0f
20,000 x 4% x 353 2,800
= 1,400
= 1,400
206 M = Hl 1,000 1,000 0
= 500
= 500
01 X2 H| 1,000 1,000 0
OYrs A2l U DB ME
1,000, 0008 1,000
= 500
= 500
301 Bt A= 2,200 1,000 1,200
= 1,100
= 1,100
09 HAIAHIEAZ 2,200 1,000 1,200
OTrs SVEI B4 243
20,000& = 1109 2,200
= 1,100
= 1,100
MOl 20l e-BIXLIA ASEE X 7,000 8,000 £1,000
2 2,500
2 4,500
201 gEt24y| 1,000 2,000 A 1,000
= 500
= 500
01 AP 22| H| 1,000 2,000 A 1,000
Ogst=2H| 1,000
— A H=sEQl e-HIXLIA DS WHMZ
1,000, 000& 1,000
= 500
= 500
301 et A= 6,000 6,000 0
= 2,000
= 4,000
09 HAIAHI BEAZ 1,000 1,000 0
OAMOIH=LRl e-HIXLIA DNEEFAEHA
1,000,000 1,000
= 500
= 500
12 JIEtE A= 5,000 5,000 0
OMOIH=sY0l e-HEALIA ASESE K& 2A
2 500,000 = 108l 5,000
= 1,500
= 3,500
sl 20 A& 6,300 4,000 2,300
= 3,150
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AN seIIsHE
g sEXNTAEY

chel: MRS ool

Off &t 24

=
i

2

HJ

3,150

201

M

2,300

1,150
1,150

1,000

1,300

01

1,300,000&

1,000,000&

HH

MW

2,300
2,300
1,300
650
650
1,000
500
500

1,000

1,300

301
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OXEEs s SEHAAN &0
66,800& * 5% « 53] 1,670
201 Let24El 7,560 7,560 0
01 At 22l 7,560 7,560 0
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OANEMA MEHX Xt =&X X
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OTMAMEAIL S XA
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OZI|otA AU XA
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OZ) EHIRLF(AR) XN
1,200,000& = 0.5 600
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O&Y st 40ILIel THEHEX Al 22
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206 M= Hl 2,000 2,000 0
01 =8l 2,000 2,000 0
OZmMAHEAN EEME 1,000, 000& 1,000
OUt=sXNEEANM EEME 1,000,000 1,000
301 et a3z 2,000 2,000 0
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O ZEAM s & 23
500,000& = 23l 1,000
OltsXelZEAMN s & 23
500,000& = 23l 1,000
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OB EANMN E2E ZEMH MEX A 30,000
— 2mY MAXHA  200& * 200,00004 = 0.5 20,000
— 2o HATMEXHA
2,000& = 10,0000 = 0.5 10,000
OltsXelBEAMN E28 TN MEX
200:& *300,00001 0.5 30,000
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= 14,240
s 21,360
202 Odl 5,500 0 5,500
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02 It S AIHE L 30,100 14,000 16,100
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= 5,040
e 7,560
OGO =& AAH A 2,500,000 2,500
= 1,000
s 1,500
DAY BHE 4 5,507,422 1,848,597 3,658,825
= 179,520
= 1,259,162
s 4,068,740
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02 2324 7,500 7,500 0
O 24| 1,500
—sJ)AHUR EH&H S50
1,500 * 5004 » 20 1,500
OA & &l 8 XYl 6,000
—WESE U KA 120,000 * 50CH 6,000
202 o4 | 4,500 10,000 A5,500
= 500
= 4,000
05 221 W=0H| 4,500 0 4,500
Og&2 =dJ|Hs RE(EE2 W)
4,500,000& 4,500
o=t 500
= 4,000
207 SO0 10,000 10,000 0
03 A&t el 2| 10,000 10,000 0
OXSLESSIIAHML  10,000,0008 * 14 10,000
SHIH S3HEX 22X 20,000 20,000 0
= 8,000
= 2,400
= 9,600
206 TH2 Ul 20,000 20,000 0
= 8,000
= 2,400
= 9,600
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AN seIIsHE

g sEXNTAEY

SR SIS AL (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 =8l 20,000 20,000 0
O=sgIlIAHEsEX 100,000& * 200CH 20,000
= 8,000
< 2,400
[ia 9,600
AEESLAESIAXNZANY 315,000 287,000 28,000
< 94,500
[ia 220,500
402 RIZEXt201 ™ 315,000 287,000 28,000
< 94,500
e 220,500
02 22t X2 AL E = (01X THE) 315,000 287,000 28,000
OXEE S48 sIHNE MY
315,000, 000& 315,000
< 94,500
[ia 220,500
SIHRE elZet2= 6,000 36,000 A 30,000
= 3,000
e 3,000
405 RHoHE S HI 6,000 36,000 A 30,000
2 3,000
e 3,000
01 AL EFSFHSH 6,000 36,000 230,000
OCussgs Fd =2 6,000,000 6,000
2 3,000
s 3,000
gREASIIAHLUHA 197,650 197,650 0
201 L4l 191,650 191,650 0
01 At 22/l 122,620 122,620 0
OgBt==&H| 22,620
—SJIH dUAY EE22 HE 2,000,000 2,000
—SJIAH LAY &0 2etE9|
132,500& * 65 » 12& 9,540
—sJIH SUAY SHOIX MHOIEZ
4,320,000& 4,320
—sSJIAH LAY & SIIH XJAY & &t
T2 X+ 2,200,000& 2,200
—sJIH SUALE2E AEREE 2
1,500,000 1,500
—SEA HAEE PYU(AEX S)
80,000& » 12JH& 960
—SJIH SUHAY AARA A 2 22ES
- 125,000& = 1200 & 1,500
—sSJHSUAMY E=I] U
50,000& = 1203 = 1CH 600
Oogxtz 100,000

_97_




EM: sg€IlasdH

=EE ——EXIC/\F"*
S sgIIAHS AHY (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—sJ|H LAY 28X LI
100,000 = 1,0003] 100,000
02 2224 4| 69,030 69,030 0
O2Z22=2 % HMA 12,030
—MIR22 9,630
SRASINSMAYL BD IIRE
6,166& =* 45kW * 1A = 128 3,330
CHEASIIAHLUHAGE A ED AES
87.5& * 1,000kw » 6= * 12& 6,300
— Aot ER 2 200,000 ~ 12€ 2,400
Ol 2| 7,000
— S0 FUlA HUREH
2,000,000& = 200 A 4,000
—AUsIIH £ XNAHX S50
1,500,000& = 204 3,000
OAl& ZHH| & X H] 50,000
—AUsIIH & LUHAIEE S22l
50,000,000 50,000
206 M = Hl 6,000 6,000 0
01 X2 H| 6,000 6,000 0
OEYRHSIIHL A 15,0008 * 400 6,000
SO HX AL 537,900 350,000 187,900
402 SI2FXHE0| & 537,900 350,000 187,900
01 QI E A EX (M) 537,900 350,000 187,900
OsSIHXNEAY XN (s"HHARIIS)
329,000,000& 329,000
ONSELMA sIIH K& 148,000,000 148,000
Ogxs Is=22) JId 60,900,000 60,900
HHEERSESIIHAY 200,000 100,000 100,000
= 100,000
& 30,000
= 70,000
405 XHAHFI S HI 200,000 100,000 100,000
= 100,000
& 30,000
= 70,000
01 XAt 2 EF S| 200,000 100,000 100,000
OHdzSE sIIH 2L 200,000,000& 200,000
= 100,000
= 30,000
= 70,000
g2 sHIHS s sE€IIH NE 30,000 35,000 A5,000
o= 15,000
= 15,000
405 XH&HF S HI 30,000 35,000 A5,000
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AN seIIsHE

g sEXNTAEY

S SLIIAHE ALY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 15,000
s 15,000
01 AL EZFH S 30,000 35,000 A5,000
OJlHstsgosd WsEd sIIH P2 (E
2) 30,000, 000& 30,000
< 15,000
i 15,000
SIAHHE DFALS 14,000 12,000 2,000
= 7,000
s 7,000
206 M= Hl 14,000 12,000 2,000
= 7,000
s 7,000
01 =4l 14,000 12,000 2,000
OsJIHetdN=E e 14,000, 000& 14,000
= 7,000
s 7,000
SIAHASEXNA 15,100 27,987 A 12,887
< 4,530
s 10,570
307 21201 A 15,100 27,987 A 12,887
< 4,530
[ia 10,570
06 2= 15,100 27,987 A 12,887
OsJIHEEXNE At 15,100, 000& 15,100
S 4,530
s 10,570
SsSIIHL 2 ES 50,000 87,500 A 37,500
< 35,000
[ia 15,000
101 @14 Hl 50,000 42,500 7,500
< 35,000
s 15,000
04 JIZHHZ2XNHEE S 50,000 42,500 7,500
OsJIHEH & =& AAHH(5E)
50,000,000& 50,000
< 35,000
s 15,000
HE2HAZH (sEIIasdH) 1,186,651 949,945 236,706
AU (sYII&dH) 994,695 761,521 233,174
fIlHAxZ2 B+ 994,695 761,521 233,174
101 @14l 994,695 761,521 233,174
03 RIAHA2Z 2 HE > 994,695 761,521 233,174
OtteL2A (Jtx) 38,233
= 2,336,750& * 1¥ * 123 28,041
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AN sg€II=4dH
I WY YA (SYIISHE)
¢ oE2IHH(sII=HH)

SA - ZE-B(EN) - NRAY - B S il &t o il
Ry RN 140,0002 » 12 » 122 1,680
— YHEOH) 500,0008 * 1% * 23] 1,000
Y B EE R

2,476,750% /243 * 1.5 » 20AI2F » 1& « 3,670
123
— s It=E
2,476,750 /243 * 8 x 1Y * 23 1,876
—JtE=E 960
- <Xt 40,000 * 1 = 128 480
HAAEH S SHIS
20,000& = 29 » 12& 480
—dHEE S 37,227,000& = 0.027 1,006
Otte:2A Otz , 2Z & Xtelutet) 369,584
—Jles 221,370
3z = 2,071,180 =1H 128 24,855
25 = 2,047,030 =8 *12& 196,515
—A2Z¥A+E 140,000& * 9H « 123 15,120
— ZE S| 500,000& = 99 « 23] 9,000
—JtE=E 6,480
b < Xt 40,000 * 9 = 128 4,320
HAAEH S SHIS
20,000& = 9% = 12& 2,160
LB ELEe
2,047,030% /2432 * 1.5 » 16AI2 » 9 « 21,835
128
—5YZ2RE 110,000 » 9% * 60 59,400
PN E = = 11,540
3z = 2,071,180/243 » 8 » 1% %19 1,296
25 = 2,047,030/243 » 8 » 8% =19 10,244
—AESHIEXE+Y 17,289
nsstu 480,230 * 9% =« 43| 17,289
—dHEE S 31,068,000& * 99 * 0.027 7,550
O=&SAE (C2) 387,100
—-Jl=s 2,518,740& » 8H » 12&8 241,800
—AREASE 140,000& = 8H » 12& 13,440
— ZE SO 500,000& » 8% « 23] 8,000
— AN 2R
2,518,740% /243 » 1.5 » 30AI2t » 8% =« 1 44,778
23
—JE=¢ 80,000& = 8% «12& 7,680
— S22 (SIALUAISA)
109,700& » 8% 502 43,880
— s
2,518,740€ /243 » 8Al 2t * 8YH * 15 9,951
—dTHEE =S 428,531,000& * 0.027 11,571
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2N
X ZH -
L= B

el

ZH (s sHH)
Hl(sel=HE)

- B(EN) - NRAY - By S il &t o il
— IS (2gs) 150,000& * 8% * 43| 4,800
— Bty 100,000& = 1H » 123 1,200
Otz 2A(Jtz, NI sk 4) 140,132
—Jl=s 2,047,030 » 4F » 128 98,258
—AREAFE 140,000& * 4H = 12& 6,720
— B2 S0td| 500,000& = 4% =« 23| 4,000
—JIEE 2,880
bi < Xt 40,0002 * 4¥ * 123 1,920
HAEH S SHIS
20,0003 = 48 » 123 960
—ANReRR Y
2,187,030% /243 » 1.5 » 20AI2t » 4H « 1 12,961
23

— iR ag
2,187,030% /243 » 8AIZt * 4H x 15 4,321

~ o013
2,690,400 * 4 = 128 » 4.5% 5,812

— 2=
2,690,400 * 49 = 128 » 3.12% 4,030
— LRI RYEH 4,030,000& = 3.7% 150
— I SH(AE= S) 100,0008 » 4% * 23 800
—Sd223H 8 200,000& » 1H 200
OH&EL2A (I, 2A2=B2RY) 34,546
—Jlas 2,047,030& » 1H » 128 24,565
-2 AdE 140,000& = 1H = 123 1,680
— ZE S| 500,000& = 1H « 23| 1,000
—JiEag 480
bH < Xt 40,000& * 1 = 128 480

—AZteZ2es¢
2,187,030% /243 » 1.5 = 20Al2F = 1Y %12 3,241
E=|

— XY
2,187,0302 /243 » 8AIZ2t * 1Y * 15 1,081

— =03z
2,690,400 * 199 = 128 * 4.5% 1,453

—HLLEE
2,690,400 * 19 = 128 » 3.12% 1,008
—LoAIRAEEE 1,008,000& * 3.7% 38
O=0 bl 25,100,000& 25,100
23t (sgJI=4H) 191,956
Jl2dtl(sgJIs4dH) 191,956
201 L2yl 128,336
01 At 22l 101,438
O e8| 23,600,000& 23,600
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2N
X ZH -
L= B

el

sgII=4H
SR oA

SAPH (=L =H4H)
Jl2gddl(sgll=4dH)

SA BB O () - NRAY - HES 0l &+ o4 il
o234 31,110
— A 50,000& * 2% 11,700
— =AY 50,000& = 1H 12,450
—ERY ®u =xy)
60,000& = 1H 6,960
O= &l 46,728
— s MY 6,000& * 218 « 11 16,632
~-=EURSD
6,000& = 18% » 11 14,256
—Jl=Xa3 6,000& 208 « 11 15,840
02 8323l 26,898 26,898 0
O2323 % HMA 26,898,000 26,898
202 O4dI 35,400 34,800 600
01 = LH o4 1l 35,400 34,800 600
OJlege=d 35,400
— s MY 50,000& = 219 12,600
—s=NMRSH 50,000& = 189 10,800
—JlsXa 50,000& * 209 12,000
203 R =&l 19,820 17,860 1,960
01 J|22F PR =8| 3,300 3,300 0
OJI22g g =2l 275,000 3,300
02 A& H R =X 3,200 2,560 640
OIS R =&Y 40,000& 3,200
04 2ENSIHRF=EHI 13,320 12,000 1,320
ORN2IYS =2 13,320
— s MY 350,000 4,200
—sHHHSH 350, 000& 4,200
—Jl=X& 410,000& 4,920
204 X2 LAY 8,400 8,400 0
01 Mg 8,400 8,400 0
ORI 2+ sAY) 8,400
— A% 400,000& » 1Y 4,800
- & 100,000& = 3H 3,600




